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Plan

* Recap : SNDRGS
* App : Private Aggregation

Logistics
* Zk Proof on Secret- shared Data
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* stretch Break

* Construction of 2-K Pf
on Secret-shared Data
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Simple Protocol

1
.

Correctness
All parties honest ⇒ Get correct answer

2
. Privacy

31 server honest ⇒ Protocol " leaks nothing
more then fix ..

"

[
If you

don't care about efficiency
or clients going offline , every client
can act as a server.

3
.
Concrete efficiency
- One msg from client to each server
- One msg from serves to each other
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probhemulsimpbeprot.co/-
No limits on range of client inputs .

Sum is computed E F ( i.e
.
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Fix using Zk
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↳ Each server can simulate its view . . .

→ Zk proof on secret - shared data
Multiple verifiers, each holds a share of data
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Constructing Zk on Secret -Shared Data
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. Verifies jointly make linear queries
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Efficiency
P - V : 044 ) ft elms for clot of

size Kl
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query.

Better Efficiency ?
* Might like to reduce PSV communication

.

* Can do if det C has nice structure
C - g. many repeated sub clots

[In some cases
, requires interaction

.


